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Time: 2% Hourg] [Max. Marks: 50
I nstructions to the candidates:

1) All questiongate compuisory.

2) FigurestaltheTtight.indicate full marks.

3) All questions carry.equal marks.

4) Use of’ simple calculater is allowed.

Q1) Answer any five out of eight (2 marks each) [10]
a - refersto the that part of capital which is@vailable and used to
carrying out the regular business operations.
)V Working capital i) _‘Fixed cepital
i)  Required capital V) Current capital

b) What isBusinessfinance?
c) WhatislInternal Rate of Rettn?
d) Net operating cycle= (lnventory conversion period+ ) —(__ ).
e List thefactorsaffecting/Capital structure of the firm.
f)  List the characteristiCs of capital budgeting decisions.
g) Themadern approach tafinancial management view .
i)  Thetotal fundstequirement of the firm.
I).. The assets to be acquired
i) The pattern‘of financing the assets
Iv) All of the above

h). The figures shown in financial statements arejeenvefied to percentages
SO as to establish each element to the total~figurelof the statement in

1)  Comparativefinancial statements
i)  Trendanalysis
i)  Common size statement

Iv)  Fund flow statement
PT.O.



Q2) Answer any two

[10]

a Explainrelevance of Timevalueof Money in capital budgeting decision.

b) “Financial management is nothithg but managerial decision making on
asset mix, capital mix and prefit allocation”. Explain.

c) Whatisworking.capital?Explainin brief objectivesof working capital.

Q3) A) @ The capita structure of a company consists.of equity shares of
Rs,-50)1akhsy 10% preference shares-of Rs.10 lakhs and 12%
debenturésyof Rs. 30 lakhs. The cost of equity capital for the
company.is 14.7% and incometax ratefor thiscompany is 30%.You

ar'e required to calculate the WACC.

[S]

b) Anriual sales of acompany-is Rs. 60,00,000.-Variable cost is 60%
of sales and fixed cost ‘other than interesi’is Rs. 5,00,000 Pa
Company has 11% debentures of Rs. 3080,000. You are required
to cal cul ate the operating and financial-feverage of the company.[5]

OR

B) RT Ltd., presents you its budgeted profit & loss account for the year
ended 31 March 2024 as under’angd request you to estimate working

capital requirement by total.cost approach.

Particulars ) Amount Amount
| (Rs.) (Rs.)

Sales 45,00,000

Less: Expenses

1) Materid 18,00,000

2) Labour 13,50,000

3) Expenses 4,50,000 36,00,000

Profit 9,00;000

Additional | nforiation

[10]

i) The production and sales take place evenly thrdughout the year.
i) Raw material carried in stock for one month and finrshed goods for

half month.

i)  The production cycle takes one month:

IV) Thereisacustom in market both far purchase of raw material and
sales of finished goods to give two, months credit.

v) Timelagin payment of wagesis 1 month.

vi) 25% of salesfor cash and balance gh,credit.

vii) Cash on hand and at bank Rs. 62(500.

[6201]-202

2



Q4) @ Given below are the selected ratios;for two companies A and B in the

sameindustry along with industry average. [10]
Ratios A B |ndustry
Current ratio 2.21 561 241
Acid test ratiq 121 3.01 131
Debt to assetyatio 36% 5% 35%
Operating expenses ratio(%) 18% 17.5% 20%
Nuimber of thnesinterest paid 6 12 5
Stock tUrnover 85 6.5 7
Debtors turnover 1 15 11.4
Rate of Return on total Assets 17% 10% 13%

Canwe say onthebasisof the abaveratiesand information, that company
‘B’ is better than company.‘ At beCauseits ratios are better in six out of
eight areas?
{/)OR
b) A company is considering different methods to finance its investment

proposal.-tisestimated that-initially Rs. 50,00,000 will be needed. Two
different alternatives are'é@vailableto raise the funds. [40]

)  ToraiseRs. 20,00,000 by sale of equity shares of Rs. 100 egoh and
balance at 18%term loan.

i) To raise entire amount by sale of equity shares of Rs. 100 each.
The existing capital structure of the company;consist of

1) 50,000 equity shares of Rs. 100 eagh
2) 17% term loan of Rs. 20,00,0Q0:

The expected EBIT is Rs. 15,00,000. Advise the company on the
basis of EPSin each aternative. Assuirie income tax rate is 50%.
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Q5) 8

b)

XY Z Ltd. isconsidering purchase of-@machinein replacement of an old
one. Two machines viz. ‘CMW", and ‘KLR’ are offered at price of
Rs. 22,50, 000 and Rs. 30,00,000espectively further, particularsregarding

these models are given below; [10]
Particulars CMW KLR
Economiclife ({ears) 5 6
Scrap value@i-the enthof economic life | Rs. 2,00,000 | Rs. 2,50,000
Net cashinfiow (Rs.)

Yearl 5,00,000 6,00,000
Year2 7,50,000 8,00,000
Year 8 10,00,000 10,00,000
Year4 9,00;000 | 12,00,000
Yeerb 850,000 10,50,000
Year 6 - 9,50,000

Present value factor at 12% RPa. afelas folfows:

Year 1 2 3 4 5 6
PV. factor | 0.893|0.797 | 0./12 | -0/636 | 0.567 | 0.507

Eval uate the two proposal saccording to pay back period and net present
value method . Whi cr) machinewould you recommend and why?

OR

Following are the Income statement and Balance sheet of ABC Ltd. for
the year 2022 and 2023;" Prepare comparative Income statement.and

comparétive Bal ance shieet. (10]
Income statement

Particulars 2022 2023 |Particularg~{-2022,"| 2023
To COGS 3,00,000 | 3,75,000| By Net Sales| 4,00,000|5,00,000
To Genera expenses| 10,000| 10,000

To Selling expenses| 15,000 | 20,000

To Net Profit 75,000 | 95,000

Total 4,00,000 |5,00,008)p Total 4,00,000|5,00,000
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Bal an@heet

Liabilities 2022 ,é&m Assets | 2022 |. 2023
Capital 3,50,000/3,50,000|Land | 50,000 50,000
Reserve - 1,0(9&%0 1,22,500 | Building | 1,50,000 |1,35,000
Secured Ioani(%))’ O;Q‘)/ooo 75,000 |Plant 1,50,000 [1,35,000
A
Creditors b q?‘l,O0,000 1,37,500 |Furniture~ 50,000 | 70,000
s
Outstariding experises 50,000| 75,000 |Cash 50,000 | 70,000
f’?,'j (Q)\V Debtors | 1,00,000 |1,50,000
"’ "9
q‘fob Stocks 1 ,000 |1,50,000
N 6,50,0007,60,000 .76,50,000 | 7,60,000
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